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Math 208H, Section 2
Exam 1

1. (15 pts.) Find the length of the curve C given by the parametrization
v(t) = (t? cost, t*sint) 0<t<L2r
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2. (15 pts.) Find the area of the region lying inside of a single “petal” of the 4-petaled

rose
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(20 pts.) Find the (rectangular) equation of the line tangent to the graph of the polar

curve
r = 3sin8 — cos(36)

at the point where 6§ = % .
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.) Find perpendicular vectors @ and , one of which points in the same direction
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5. (15 pts.) Show that if the vectors v=(aj,as,a3) and w=(bj, bz, b3) have the same

length, then the vectors
V+wand V—-w

are perpendicular to one another.
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6. (20 pts.) Find the equation of the plane in 3-space which passes through the three

points /}7 Q R

(1,2,1), (6,1,2), and (9,-2,1) .
Does the point (3,2,1) lie on this plane?
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